
DATE

3 /14 

1.0

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Zeron

Christian Veterinary 
Mission

B1

Parts list  

31/07/2021Hay Manger

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Parts list cvm_hm_hay-manger.csv

 

 OHO e.V.

 

Parts list
POS QTY PART NAME FILE NAME PART TYPE SPECIFICATIONS SHEET
A1 - 3d views cvm_hm_hay-manger.iam - - 1
A2 - Exploded 3d view cvm_hm_hay-manger.ipn - - 2
B1 - Parts list cvm_hm_hay-manger.csv - - 3
C1 - Technicl notes - - - 4
1 1 Base Base.ipt Production Kiln dried wood 20mm 5

2 2 Sheet metal Sheet metal.ipt Production 24-Gauge galvanized steel 6
3 52 Screw A - Standard DIN 97 screw 2x15mm -

4 2 Board A Board A.ipt Production Kiln dried wood 20x40mm 7
5 1 Board B Board B.ipt Production Kiln dried wood 20x40mm 8
6 2 Board C Board C.ipt Production Kiln dried wood 20x40mm 9
7 10 Screw B - Standard DIN 97 screw 4x35mm -

8 16 Circular sheet Circular sheet.ipt Production 24-Gauge galvanized steel 10
9 32 Screw C - Standard DIN 97 screw 3x20mm -

10 1 Metal bar Metal bar.ipt Production Steel A36 bar 50mm 11
11 4 Screw D - Standard DIN 97 screw 5x35mm -

12 3 Flat bar - Production Steel A36 bar 10mm -

13 4 Support Support.ipt Production Kiln dried wood 20x40mm 12
14 2 Sheet A Sheet A.ipt Production 26-Gauge galvanized steel 13
15 2 Sheet B Sheet B.ipt Production 26-Gauge galvanized steel 14
16 1 Sheet C - Production 26-Gauge galvanized steel 340x210mm -

17 2 Mesh wire - Buy 16-Gauge mesh wire 25x340x107mm -

18 16 Screw E - Standard DIN 97 screw 4x30mm -


